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DIPLOMA IN ELEMENTARY EDUCATION 
(D.ELEd.) 

Term-End Examination 
December, 2017 

BES-012 : TEACHING OF MATHEMATICS 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following in about 600 words : 
"Children use their own strategies for learning". 
Discuss the statement with reference to learning 
of Mathematics. 

OR 
What misconceptions children have about 
'chance' ? List activities that help children 
understand the concept of chance. 

2. Answer the following question in about 
600 words : 
Describe reflection and rotation symmetrics. How 
will you introduce them to children of elementary 
classes ? 

OR 
Give examples to differentiate between 
'assessment for learning' and 'assessment of 
learning'. 
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3. Answer any four of the following questions in 
about 150 words each : 

(a) What is a counter example ? Explain. 

(b) Explain how solving puzzles help in 
improving mathematical skills ? 

(c) What is simple linear equation ? Explain 
the process of solving them. 

(d) What are the features of activity based 
learning ? 

(e) 'Generalization is a key feature of algebraic 
thinking'. Discuss. 

(f) What do you mean by tesselation ? 

4. Answer the following question in about 
600 words : 

Select any topic from upper primary mathematics 
and discuss how will you use different forms of 
cooperative learning to teach the selected topic. 
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